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CLT-102 

CERTIFICATE PROGRAMME IN 

LABORATORY TECHNIQUES (CPLT) 

Term-End Examination 

December, 2019 

CLT-102 : LABORATORY 

TECHNIQUES IN BIOLOGY 

Time : 1 Hour 	 Maximum Marks : 25 

Note : Attempt all questions. Marks are indicated 

against each question. 

1. Fill in the blanks with the alternatives given in 

the parentheses : 	 5 

(i) A container to house the amphibians is 

called 	(Aquarium/Vivarium) 

Sponges are classified as 	 

(Porifera/Coelenterata ) 

(iii) To study chromosomes (squash/smear) 

technique is used. 

(5-36) 
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(iv) Agro-based residues are (biodegradable/ 

non-biodegradable) materials. 

(v) Compound lens system is an integrate part 

of the (compound/stereo) microscope. 

2. Write short notes on any two of the 

following : 	 2x5=-10 

(i) Botanical Grethen 

(ii) Dry heat sterilisation 

(iii) Identification of specimens and use of keys 

3. Explain the abiotic and biotic components of 

environment and flow of energy in an 

ecosystem. 10 

Or 

Discuss the main steps in the use of a 

compound microscope. 

(B-36) P. T. 0. 
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CLT-103 

CERTIFICATE PROGRAMME IN 

LABORATORY TECHNIQUES (CPLT) 

Term-End Examination 

December, 2019 

CLT-103 : LABORATORY TECHNIQUES IN 

CHEMISTRY 

Time : 1 Hour 	 Maximum Marks : 25 

Note : Attempt all questions. 

1. Fill in the blanks with appropriate words 

chosen from those given in the brackets 

alongside. Answer any five parts : 1x5=5 

(a) A separating funnel may be used to 

separate 	from water. (acetone, ether) 

(b) A rider is used to weigh 	10 mg of 

a substance. 	(less than, more than) 

(B-36) 
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(c) Traces of grease can be removed 

with 	 (acetone, water) 

(d) Ashless filter papers available in the 

laboratories have 	ash content. 

(no, some) 

(e) Water and aniline are 	miscible. 

(partially, completely) 

(f) A solution which contains 0.5 mol of solute 

per dm3  of the solution may be called a 

	solution. 	(normal, standard) 

(g) For drinking purpose, 	water is not 

suitable. 	 (deionised, distilled) • 

2. Answer any five of the following : 	2x5=10 

(a) Draw a labelled diagram for the set up 

used for paper chromatography. 

(b) Differentiate between soda glass and 

borosilicate glass. 

(c) What are the uses of the following ? 

(i) Pipette 

(ii) Volumetric flask 

(B-38) P. T. 0. 
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(d) List any two precautions to be taken while 

using flammable solvents. 

(e) What is temporary hardness ? How can it 

be removed ? 

(f) Which two heating techniques would you 

use to boil a flammable mixture with a 

boiling point of 80°C ? 

(g) What are azeotropic mixtures ? Give one 

example of such mixtures. 

3. Answer any five of the following : 	2x5=10 

(a) Give any two advantages of centrifugation. 

(b) Out of solid, liquid and gas, which is the 

mobile phase and which is the 

stationary phase in ion exchange 

chromatography. 

(c) Calculate the number of moles and number 

of grams of KMnO4  in 6.00 dm3  of 0.25 M 

solution (M,. of KMnO4  = 158). 

(d) Explain any two sources of error. 

(B-36) 
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(e) 80 cm3  of an aqueous solution of ferrous 

.(II) sulphate contains 8 g of FeSO4 .7 1120 . 

Express the concentration of this solution 

as a percentage i.e., wt./vol. 

(f) What is retention factor ? 

(g) Mention two methods of maintaining even 

and gentle boiling when using a direct 

burner. 

(B-36) P. T. 0. 
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CLT-104.  

CERTIFICATE PROGRAMME IN 
LABORATORY TECHNIQUES (CPLT) 

Term-End Examination 
December, 2019 

CLT-104 : LABORATORY TECHNIQUES 

IN PHYSICS 

Time : I Hcft 	 Maximum Marks : 25 

Note :All questions are compulsory but internal 

choice are given. 

1. Attempt any five parts : 	 5x2=10 

(a) Write any four basic responsibilities of a 

physics laboratory technician. 

(b) Write one function of each of the following 
tools : 	• 

(i) Pliers 

(ii) File 

(c) Define least count of a vernier callipers. 

Write the value of least count of vernier 

callipers when 9 MSD coincide with 10 
VSD. 

(B-36) 
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(d) Convert 77 F into °C. 

(e) Determine the position and nature of 

image formed by a concave mirror when 

the object is placed at the centre of 

curvature (C). 

(0 How is a voltmeter connected in an electric 

circuit to measure voltage ? What is the 

resistance of an ideal voltmeter ? 

(g) State one function each of a signal 

generator and AC power supply. 

2. Attempt any three parts : 	 3x5=15 

(a) (i) Write any three precautions you 

should take for personal safety while 

working with basic tools in a physics 

laboratory. 	 • 	3 

Name two optical instruments used in 

experiments on light in a physics 

laboratory. 2 

(b) With the help of a schematic diagram, 

explain the construction of a physical 

balance. 	 5 

(c) (i) What is an electromagnet ? .Write its 

two uses. 	 3 

(B-36) R T. 0. 



[16 ] 	 CLT-102/103/104 

(ii) State the reasons for the loss of 

magnetism of a permanent magnet. 2 

(d) (i) What is a simple microscope ? Explain 

its working with the help of an 

appropriate diagram. 	 3 

(ii) Draw synibolic diagrams of a p-n 

junction diode and an n-p-n transistor. 

2 

(e) (i) State two differences between a 

primary cell and a secondary cell. Give 

one example of each. 	 3 

What is an ammeter ? What is the 

value of resistance of an ideal 

ammeter ? 	 2 

(B-36) 
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